
AW-399

B.A. (Part-ll) Scmcstcr-Mxaminstion
(Optiotral Subject)

PIIILOSOPHY
(llistory of Modern Wcsacrn Philosophy)

Time : l hree Iloursl [Maximum Ma*s : 80

Note :-( I ) AII qucstions are compulsory.

(2) All questions carry equal marks.

1. Ijcscancs is 'Father of Nlodem Wcstem philosophy', why ? Dcscribe fully his method of
doubt. 16

OR

According to Spinoza, dcscribe the concep[ of substancc. 16

2. Choose the correct options :

(l) Each and every Monad exprcss and represent the Univcrsc says :

(a) Lockc (b) Lcibnitz

(c) Spinoza (d) None of these

(2) Flvcry Monad is rvindowlcss; says :

(a) Berkeley (b) Lockc

(c) Lcibnitz (d) Ilume

(3) How maiy types of Monads 'l

(a) Five (b) Thrcc

(c) l\r o (d) l'our
( l) Drcanrirg Monids lived in _.

(a) Plants (b) Animal

(c) Man (d) \onc olthese

t: r M.rnuLl ol thc MonJds is _
(a) God (b) lvlan

(c) Anirnal (d) Plants

{ 6l Pre-estf,hlishcd I Iarmony cxists in _.
(a) Monad (b) ldea

(c) lloth (d) \one of these

(7) -the I-a$ 01-conscrvatioD of cnergy is related to

(a) Theory ol l'rc-cstablished Ilarmony (b) Thcory of Systematic Doubt

(c) I hcory of Dualism (d) None ofthe above

(8) The cxample of the orchcslra Ibr the explanation aboul thc thcory of Pre-established

llarmony is givcn by _.
(a) Dcscartcs (b) Spinoza

(c) Leibnitz (d) I-ockc 8x2=16
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3. Accor,ling to John Lockc cxpiain the concept ofAbstract Gencral l,lea

OR

Accorr.ling to Berkelel erpLain thc equatioo of'esse est percipi'.

4. Write in shofi:
According to Humc :

( I ) Conccpt of Soul

(2) Theory of causati,rn.

OR

(a) Sccpticism of l lume

(b) According to cgel 'Dialectical \,lethod".

5. Explain in short according to Kant .

(l ) Ccnccpt of God

(2) Nrurncna.

olt
Possibility of Synthetic apriori rudgement

Phenomena.
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AW-399

B-A. (Part-II) Semestcr-M!aoinatioD
(Optional Subject)

PIIILOSOPHY
(tlistory of Modern Western Philosophy)

Time : Three Hoursl uvlaximum Marks: 80

(ftFA qrlac)

*a :- (l) (\t drs qrn 3{Frdrf ? r

(2) (1ff s-{ i :i+ qqrT I r

l. tqnd q6 cmldtn qynnq Ri{enr, 6r s{fi ? tA +ql Fddri ? s{<t ftrq.raft k<irr qq
i Fqq( +fffu r 16

wr4r
Rtrit* .i irlrn ?.q ft-.l{r' (ft-€dr{ Fc i troa +lfuq r 16

2. (fi wfo glrc I

(l) r&tr (6r q6) fu(ul F+rs di -{+o 3rt{ sfrftk( +.rdr e I {6 {aiflin a ,

("r) .fn F) amffiq
(+) tu,ira ts) q<} t Tfi

(2) e-cq f{+l {d M {trd (rTsrer {Fd) ? r qa rrmm i ,

(.{ ) {d (s) .f6
6) drcdq F) W

(3) in({ + iardi rflr a ?

qst rai t r

(s)tu(ll6rk(ute:
(.r) '{T{{ (q) qr{E

6) qff F) 4{s$
(6) Td erqrTftd gro< r<i i :

(e) a)rs (s) 6s{r
F) ?in F) rail + Tfr

(7) yrk + c{n{Rii 6r ftqq; 116 {diltrd ? ,

(3t) Tdr",rftd g$flq 6r fudia (E) Frdrft{ quq qaff ot Ma
(+) *a+< n fuaia fs) {+ t Tfi

(s) Td-sFnRd grar< i Raia +;t edlr<q ii + ftq 3ii$.qr 6r rqrau r€ti Rqr :

(q) M (E) Rr+rr

F) drqdtu F) ffi 8x2=16

(.r) ltq
F)a

1l; e.-rv fuEn1

(3r) +<Frfa

f6) qli-i

(s) fl-r
(s) qR

(s ) roft

fs) Ent i {ff

5YBC 15089 (Contd.)



l

l

sit nii6 .i 3f,1t1{ .lt,ld {rr{T.r srlrit qit rr+rqar fucr< ditLL r

rqt
q+,{ + 3r1 { irf}ir r qA rrk?f jrqaa' (esse cst percipi) l?qa dfrl r

qF,r { I'diir-.r

q! + 3r1ilT1

(t ) '3[iq rd .=rri

(2) ano6, 1tr.u'. ,

FTqI

(ir \ qlr 6r E :l,rari

F) ?,;to + 3r;FR i?rirth ldlir
.iria i 3rA.tR r,tri ;lt{:
(l ) <bsr {+.q,il
(z) vi<r.1

{3r) qvitr+ 3r1qrli fixr +l ;{r;ac-
(s) tr{a-aEr
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